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if( i%3 == 0 )

{
System.out.println("3 ATH&LDEDITEZFIT");
}
else
{
iF( Q%3 == 1)
{
System.out.println("1BRODFT");
}
else
{
System.out.println("1 EDZEEA");
}
}
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import java.io.*;
class Assignment7_5{
public static void main(String[] args) throws IOException{
/] F—Mm— %R
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));

1925 + F0E
1988 + F0E

char wareki; // FOEBEDEIRA
int year_wareki; // 0B
int year_seireki; // tBf&

// WIBARBDRR
System.out.println("FIBHOSABNBRELXT, ");

// FOBODER “
System.out.println("FIBOEFSZADUTIZEUN, ");
System.out.println("88}8-m KIE-t 08%0-»s 3Emk-h");
wareki = br.readLine().charAt(9);

// MBDSEBNDBE
switch(wareki)

{
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}
}//public static void main()
}//class Assignment7_5
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